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1. Inflation that evolves from the past events and continues to affect the current economic 

conditions is known as______. 

A. Cost-Push Inflation 

B. Stagflation 

C. Demand-Pull Inflation  

D. Built-in Inflation 

2. The first Winter Olympics were held in 1924 in which of the following countries?  

A. Canada 

B. France 

C. Sweden  

D. Germany 

3. The Panchsheel Agreement served as the foundation for relations between which two 

countries?  

A. India and China 

B. India and Bangladesh 

C. India and Pakistan  

D. China and Pakistan 

4. 'Rashtriya Garima Abhiyaan' is a national campaign to: 

A. rehabilitate the homeless and destitute persons and provide them with suitable sources of 

livelihood 

B. release the sex workers from their practice and provide them with alternative sources of 

livelihood 

C. eradicate the practice of manual scavenging and rehabilitate the manual scavengers 

D. release the bonded labourers from their bondage and rehabilitate them 
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5. Name the Smallest Black Hole in the Milky Way Galaxy· 

A. The Unicorn  

B. The Dragon 

C. Mermaid  

D. Little Phoenix 

6. Consider the following statements: 

1. If an MP/MLA is convicted for a crime and is sent to jail for 2 years or more, he will be 

disqualified from contesting elections for 6 years from the time of release. 

2. Even if a person is on bail after the conviction , he is disqualified from contesting an election if 

his appeal is pending for disposal. 

Which of the statements given above is/are correct?"  

A. 1 only 

B. 2 only 

C. Both 1 and 2  

D. Neither 1 nor 2 

7. Strait of Hormuz connects which of the following water bodies? 

A. Red Sea & Persian Gulf  

B. Persian Gulf & Gulf of Oman 

C. Red Sea & Gulf of Aden  

D. Persian Gulf & Gulf of Aden 

8. The Hunter Commission was set up in 1919 for investigating: 

A. Provisions of Rowlatt Act  

B. Jallianwala Bagh Massacre 

C. cases of Political Prisoners  

D. Political Activities 
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9. In which of the following cases the Supreme Court of India has fixed the upper limit of 50% for 

reservation? 

A. Kesavananda Bharati Case, 1973 

B. IR Coelho Case, 2007 

C. Puttaswamy Case, 2017 

D. Indra Sawhney Case, 1992 

10. The Falkland Islands issue is a dispute between which of the two countries?  

A. US and Cuba 

B. UK and Argentina 

C. Japan and North Korea  

D. Russia and Norway 

11. The 'Farzad-8 Gas Field' is located in? 

A. Arabian Sea 

B. Black Sea 

C. Caspian Sea  

D. Persian Gulf 

12. Which among the following committees is related to 'Personal Data Protection'? 

A. C Rangarajan Committee  

B. Bimal Jalan Committee 

C. Bhurelal Committee  

D. B.N. Srikrishna Committee  

13. Saffir-Simpson Scale is used to measure? 

A. Amplitude of Tsunami waves 

B. Wind Speed of Hurricanes 

C. Intensity of Earthquake in Polar Region 

D. Solar Intensity for Establishing SOLAR PV CELLS 
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14. The Boltzmann Medal is associated with which of the following fields?  

A. Statistical Physics 

B. Applied Chemistry 

C. Computing Machinery  

D. Mathematics 

15. The 'Noumea Accord' is related to? 

A. Peace Agreement between Armenia and Azerbaijan 

B. Middle East Peace Agreement signed with the United States 

C. Global Alliance under UNFCCC to Reduce Carbon Emission 

D. Decolonisation Plan for New Caledonia proposed by France 

16. The Pearl River drains forms an estuary in which of the following water bodies?  

A. Gulf of Thailand 

B. Andaman Sea 

C. Philippine Sea 

D. South China Sea  

17. The term 'Open Market Operations' is related with which of the following?  

A. Government Securities 

B. Foreign Exchange 

C. Gold Deposits  

D. Participatory Notes 

18. PM Gati Shakti Scheme is related to which of the following? 

A. Women Empowerment in Research and Development. 

B. Increasing Utility of Indian Post Office for Financial Inclusion 

C. Infrastructure Development for Multi-Modal Connectivity Plan 

D. Speedy Dispersal of Grains under Public Distribution System 
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19. The 'Nord Stream 2' 1s a gas pipeline between which of the following two countries? 

A. Russia and France 

B. Russia and Germany 

C. Germany and Sweden  

D. Sweden and Poland 

20. The Bradykinin hypothesis is related to?  

A. SARS-CoV-2 

B. Magnetic pole shifting 

C. Climate change  

D. Extra-terrestrial life 

21. The 'Prarambh Summit' is associated with which of the following? 

A. India-UK Free Trade Agreement 

B. Startup Ecosystem at international level 

C. Protection of Child Rights 

D. Cooperation in Quantum Technology Applications 

22. The conventions/protocol that mandates the sharing of benefits derived from the use of 

genetic resources that are covered by the Convention on Biological Diversity (CBD) is?  

A. Nagoya Protocol 

B. Basel Convention 

C. Kyoto Protocol  

D. Stockholm Convention 

23. The 'Nagomo-Karabakh' region is a disputed territory between which two countries? 

A. Israel and Palestine 

B. India and China 

C. China and Bhutan 

D. Armenia and Azerbaijan 

http://www.byjusexamprep.com/


www.byjusexamprep.com 

7 
 

24. Cataracts in eyes are formed due to break down and clumping of which of the following in 

the lens of the eyes?  

A. Protein 

B. Fat 

C. Lipid  

D. Carbohydrate  

25. 'Arakunomics Economic Model' ensures profit in which of the following?  

A. Agriculture 

B. Stock Broking 

C. Automobile Trade  

D. Cryptocurrencies 

26. The Sydney Dialogue is an annual summit on: 

A. Climate Change 

B. Cyber Technology 

C. Hunger and Malnutrition 

D. Sustainable Water Utilisation 

27. The Freedom of Press under Article 19 of Indian Constitution is restricted on which of the 

following grounds? 

1. Sovereignty and integrity of India  

2. Contempt of Court  

3. Defamation  

4. Incitement to an Offense 

Select the correct answer using the code given below 

A. 1 and 3 only 

B. 3 and 4 only 

C. 1,2 and 3 

D. 1,2,3 and 4 
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28. The National mission for Manuscripts is under the aegis of which of the following ministries? 

A. Ministry of Human Resource and Development 

B. Ministry of Culture 

C. Ministry of Minority Affairs 

D. Ministry of Tribal Affairs 

29. Which of the following is the function of T Cells? 

A. Immune Response 

B. Controlling the Sugar Level 

C. Synthesis of Protein 

D. Transporting Oxygen 

30.The Malimath Committee is related to ? 

A. Reforms in the Criminal Justice System 

B. Reforms in the Agriculture Produce and marketing Committee 

C. Restructuring of Rural Banking Structure in India. 

D. Formulating Policies regarding Small Scale Industries 

31. The National Startup Awards 2021 is an initiative of which of the following? 

A. NITI Aayog 

B. Ministry of Skill Development and Entrepreneurship 

C. Ministry of Commerce and Industry 

D. Ministry of Micro, Small and Medium Enterprises 

32. With reference to the Election Commission of India (ECI), consider the following statements: 

1. Part XV of the Indian Constitution deals with the establishment of the ECI. 

2. It was made a multi-member body by the Election Commissioner Amendment Act 1989. 

3. The Chief Election Commissioner can be removed from office only through a process of 

removal similar to that of a Supreme Court judge by Parliament. 
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Which of the statements given above is/are correct? 

A.1 and 2 only 

B. 2 only 

C.2 and 3 only 

D.1, 2 and 3 

33. The terms 'Golden Crescent' and 'Golden Triangle' is related to? 

A. Regions having Gold Deposits  

B. Drug Trafficking Routes 

C. Strategic alliances in Europe 

D. Dead zones in Pacific Ocean 

34. Which article of the Indian Constitution grants special powers to some states in the country? 

A. Article 36 

B. Article 370 

C. Article 371 

D. Article 35A 

35. The Davos Summit is associated with which of the following? 

A. United Nations Development Program 

B. World Economic Forum 

C. United Nations Environment Programme 

D. G20 Countries 

36. Which of the following Acts is also known as the Saint Helena Act'? 

A. Regulating Act, 1773  

B. Pitt's India Act, 1784 

C. Government of India Act, 1858 

D. Charter Act, 1833 
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37. The TSR Subramanian Committee (2014) is associated with which of the following 

A. India's effort to Counter Terrorism 

B. Establishment of Indian Environment Service (IES) 

C. Conjugal Rights under Hindu Marriage Act, 1955 

D. Use of Drone Technology in Agriculture 

38. Consider the following pairs: 

Constitutional Amendment Significance 

1. 1s Amendment Introduced 9th Schedule 

2 24th Amendment Reduced Voting Age 

3. 61 Amendment Defection Declared illegal 

Which of the pairs given above is/are not correctly matched? 

A. 1 only  

B. 1 and 2 only 

C. 2 and 3 only 

D. 1,2 and 3 

39. EChO Network is related t 

A. Internet of Things 

B. Health Care in Tribal Areas 

C. Ecology and Environment 

D. Development of Disabled Children 

40. With reference to the 103rdconstitution (Amendment) Act, 2019, consider the following 

statements1. 1. It introduced the 10% EWS (Economically Weaker Section) Quota. 

2. It amended Article 15 and Article 16 of the Indian Constitution. 

Which of the statements given above is/are not correct? 

A. 1 only      B. 2 only  

C. Both I and 2     D. Neither 1 nor 2 
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41. With reference to the gallantry awards, consider the following pairs 

Gallantry Awards Descriptions 

1. Param Vir Chakra Highest Military Decoration Award 

2. Ashoka Chakra Highest Award During Peacetime 

3. Sena Medal Exceptional Devotion in Airforce 

Which of the above pairs are correctly matched? 

A. 1 and 2 only 

B. 2 and 3 only 

C. 1 only 

D. 1, 2 and 3 

42. Which of the following article of Indian Constitution empowers the President to grant pardon 

A. Article 61  

B. Article 58 

C. Article 77 

D. Article 72 

43. ‘6X6X6 stratergy’ is related to which of the following disease? 

A. Tuberculosis 

B. HIV/AIDS 

C. Anemia 

D. Malaria 

44. 38th Parallel is the separating line between which two countries? 

A. US and Canada 

B. Armenia and Azerbaijjan 

C. North Korea and South Korea 

D. Turkey and Syria 
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45. The 'Crime in India' Report is an annual publication of which of the following organization 

A. National Human Rights Commission 

B. Central Bureau of Investigation 

C. National Crime Record Bureau 

D. National Institute of Criminology and Forensic Science 

46. To uphold and protect the Sovereignty Unity and Integrity of India' is a provision made in the 

A. Preamble of the Constitution 

B. Directive Principles of State Policy 

C. Fundamental Rights 

D. Fundamental Duties 

47. The Genetic Engineering Appraisal Committee is constituted under the: 

A. Food Safety and Standards Act, 2006 

B. Geographical Indications of Goods (Registration and Protection) Act, 1999 

C. Environment (Protection) Act, 1986 

D. Wildlife (Protection) Act, 1972 

48. The Vishakha Guidelines of the Supreme Court of India is related to which to of the following? 

A. Protection of Sc & ST Population from Atrocities 

B. Regulation of the Coal Block Allocations 

C. Police Reforms in India 

D. Sexual Harassment at Workplace 

49. What is the name of the condition in which the human body is deprived of adequate oxygen 

supply at the tissue level1? 

A. Myoxia 

B. Hypoxia 

C. Hyperoxia 

D. Typoxia 
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50. With reference to the 'Electoral Bonds', consider the following statements: 

1. It is a financial instrument for making donations to political parties. 

2. State Bank of India is authorized to issue and encash these bonds. 

Which of the statements given above is/are correct? 

A. 1 only 

B. 2 only 

C. Both 1 and 2 

D. Neither 1 nor 2 

51. Consider the following pairs: 

Jobs Nature of Work 

1. Blue-Collar Manual Labour 

2. Gold-Collar Highly-Skilled Workers 

3 Gold-Collar Highly-Skilled Workers 

Which of the pairs given above is/are correctly matched? 

A. 1 only  

B. 1 and 2 only  

C. 2 and 3 only  

D. 1,2 and 3 

52. Which of the following countries forms the "Lithium Triangle"? 

A. Chile, Argentina, and Bolivia 

B. Pakistan, Afghanistan, and Iran 

C. Myanmar, Thailand, and Vietnam 

D. Canada, U.S, and Mexico 
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53. How many members can be nominated to Lok Sabha by President? 

A. 0 

B. 2 

C. 3 

D. 4 

54. Which of the following cases involved the largest bench till date constituted by Supreme 

Court? 

A. Keshvananda Bharti Case 

B. Golaknath Case 

C. Minerva Mills  

D. Bank Nationalisation Case 

55. Consider the following pairs 

Constitutional Provisions Borrowed From 

1. Institution of Speaker Britain 

2. Residuary Power Australia 

3. Concurrent List Germany 

4. President Election Ireland 

Which of the pairs given above is/are correctly matched? 

A. 1 and 4 only 

B. 1 and 3 only 

C. 2 and 4 only 

D. 1, 2 and 4 

56. Consider the following pairs: 

Day Date 

1. World AIDS Day 15th December 

2. International Day of Persons with Disabilities 3rd December 

3. Human Rights Day 10th December 
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Which of the pairs given above is/are correctly matched? 

A. 1 only 

B. 1 and 2 only 

C. 2 and 3 only 

D. 1,2 and 3 

57. The term Base Erosion and Profit Shifting' is: 

A. mining operation by multinational companies in resource-rich but backward areas 

B. curbing of the tax evasion by multinational companies 

C. curbing of the tax evasion by multinational companies 

D. lack of consideration of environmental costs in the planning and implementation of 

developmental projects 

58. The Supreme Court of India declared the Right to Privacy as a fundamental right in which of 

the following cases? 

A. Kesavananda Bharati vs. State of Kerala 

B. Justice K.S. Puttaswamy vs. Union of India 

C. SR Bommai vs. Union of India 

D. AK Gopalan vs. State of Madras 

59. The 'Blue Heart Campaign' is related to? 

A. Global awareness raising initiative to fight human trafficking. 

B. Awareness about the challenge the illicit drugs pose to society. 

C. Campaign to support the people living with HIV. 

D. Provide opportunity by ameliorating short-term poverty and hardship. 

60. Vividh Bharti is also known as: 

A. Commercial Broadcasting Service  

B. Commercial Broadcasting Company 

C. Commercialized Broadcasting Service 

D. Mercantile Broadcasting Company 
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61. What is the new name of the merged entity of the Lok Sabha and Rajya Sabha channels 

A. LS-RS Channel 

B. Sansad Channel 

C. Parliament Channel 

D. Indian Sabha Channel 

62. The 'Baba Kalyani Committee' is related to? 

A. Long Term Food Policy 

B. Banking Supervision 

C. Small Scale Industries Reforms 

D. Special Economic Zones Policy  

63. ‘H2000oh! -Waterwise Program' for the Children of India is an initiative launched by: 

A. UNEP 

B. UNESCO 

C. UNDP 

D. NITI Ayog 

64. The Punchhi Commission (2010) is associated with which of the following? 

A. Abolition of Death Penalty 

B. Reforms in Education 

C. Tax Reforms 

D. Center-State Relations 

65. With reference to forests, what is the season between winter and monsoon referred to as? 

A. Rainfall Season 

B. Forest Fire Season 

C. Post-Winter Season 

D. Spring Season 
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66. The Project Sunrise is related to? 

A. Mental Health Care 

B. Rising HIV Prevalence  

C. Nutritional Support 

D. Tuberculosis Control 

67. Which of the following initiatives resulted in the adoption of the founding principles of the 

Non-Aligned Movement (NAM)? 

A. Brasilia Declaration 

B. Bandung Conference 

C. Nairobi Declaration 

D. Vienna Convention 

68. Where can be the impeachment charges initiated against the President of India? 

A. Lok Sabha 

B. Rajya Sabha 

C. Supreme Court 

D. Either of the House of Parliament 

69. Which Articles of the Indian Constitution contain the Emergency Provisions? 

A. Articles 350 to 360 

B. Articles 352 to 360 

C. Articles 342 to 350 

D. Articles 362 to 370 

70. The Hague Convention 1954 is related to which of the following?  

A. Exclusive Economic Zone  

B. International Criminal Court  

C. Prevention of Cultural Heritage  

D. Ethics in Artificial Intelligence 
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71. Who discovered ABO blood group system?  

A. Gabriel Andral  

B. William Addison  

C. Karl Landsteiner  

D. Christiaan Barnard 

72. PARAM Ganga is related to:  

A. River Conservation  

B. Solar System  

C. Ballistic Missile  

D. Supercomputer 

73. What is the name of India's first Venus Mission?  

A. Venera  

B. Veritas  

C. Shukrayaan  

D. Ayushman 

74. Which is the hottest planet in our solar system?  

A. Mercury 

B. Venus 

C. Mars  

D. Jupiter 

75. To answer a question, the given principle is to be applied to the given facts so as to arrive at 

most reasonable conclusion. 

Principle: Intentional application of force to another person is action able in law. Facts: 'P' and 'D' 

are unknown to each other. When 'P' is about to sit on a chair, 'D' intentionally pulls it away as a 

result of which 'P' falls on the floor and is 

injured. 
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A. 'D' is not liable as 'P' is not seriously injured. 

B. 'D' is liable as he intentionally caused injury to P. 

C. 'D' is not liable as such jokes are common in the society. 

D. 'D' is not liable as the injury is not directly caused. 

76. To answer a question. the given principle is to be applied to the given fa so as to arrive at 

most reasonable conclusion. 

Principle: Consent is a good defence in a civil action for tort but the a t should be the same for 

which consent was given. 

Facts: 'B' was formally invited by 'A' to his house. 'B' after sitting for some time 

in drawing room, moved to the bed room of the house. 'A' sued 'B' for trespass. 

A. 'B' has interfered with privacy of 'A'. 

B. 'B' has committed no trespass as he entered the house with 'A's consent. 

C. 'B' has offended 'A' by moving to bed room. 

D. 'B' has committed trespass as there was no consent of 'A' for entry in the Bed room. 

77. To answer a question, the given principle is to be applied to the given facts so as to arrive at 

most reasonable conclusion. 

Principle: The communication of a proposal is complete when it comes to the 

knowledge of the person to whom it is made. 

Fae : 'A' sent a letter making a proposal to 'B' to purchase the house of'B'. 

A. The communication of proposal is complete when 'B' reads the letter. 

B. The communication of proposal is complete when A sent the letter. 

C. The communication of proposal is complete when B's wife received it. 

D. The communication of proposal is complete when B's wife handed over the letter to 'B'. 
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78. To answer a question, the given principle is to be applied to arrive at most reasonable 

conclusion 

principle: A person is said to have committed assault when an apprehension is caused in the mind 

of a person that he is about to use physical force against his body. 

Facts: 'A' abuses 'B' while he was sitting in a moving train, by aggressively shaking his fists when 

'B' was standing on the railway platform at a distance. 

A. 'A' has caused apprehension of assault in the mind of 'B'. 

B. 'A' has committed assault against 'B'. 

C. 'A' has not committed assault against 'B' 

D. 'A' has caused fear of assault in the mind of 'B'.  

79. To answer a question, the given principle is to be applied to the given facts so as 

to arrive at most reasonable conclusion. 

Principle: Nothing is an offence which is done by a child under twelve years of age, who has not 

attained sufficient maturity of understanding to judge the nature and consequences of his 

conduct on that occasion. 

Facts: 'X', 11 years old boy, picks up a gold ring worth Rs 5000/-lying on a table 

in his friend's house and immediately sells it for Rs 2000/-, and misappropriates the money. 

A. 1X1 would not be protected under the principle stated above because, 

irrespective of the age, stealing is an offence 

B. 'X' would be protected under the principle stated above because he is below 12 years of age. 

C. 'X' would be protected under the principle stated above because his acts show that he was not 

sufficiently mature to understand the nature and consequences of his conduct. 

D. 'X' would not be protected under the principle stated above because his acts show that he was 

sufficiently mature to understand the nature and consequences of his conduct 
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80. To answer answer a question, the given principle is to be applied to the given facts so as to 

arrive at most reasonable conclusion. 

Principle: Defamation is the publication of a statement which tends to lower reputation ofa 

person in the estimation of other members of the society generally. 

Facts: 'A' writes a highly offensive and derogatory letter about 'B', and sends it directly to 'B' in a 

sealed cover. 

A. 'A' is liable to 'B' for defamation , as the letter is highly offensive and derogatory and is directly 

sent to 'B'. 

B. 'A' is not liable to 'B' for defamation, since there is no publication to any other person in whose 

estimation the reputation of 'B' could be brought down. 

C. 'A' is liable to 'B' for defamation , as the letter the highly offensive and derogatory . 

D. 'A' is liable to 'B' for defamation, as it has hurt his (B's) self-esteem·  

81. To answer a question, the given principle is to be applied to the given facts so as 

to arrive at most reasonable conclusion. 

Principle: In case where there is an infringement of legal right even without any 

actual loss or damage, the person whose right is Infringed has a cause of action. Facts: 'P' was 

wrongfully prevented by the Returning officer from exercising his vote in an assembly election. 

The candidate for whom he wanted to give his vote won the election. Still he ('P') brought an 

action claiming damages. 

A. 'P' would succeed in his action, as it is mandatory to cast vote. 

B. 'P' would succeed in his action, as he was wrongfuJly prevented from exercising his legal right 

of voting in that election. 

C. 'P' would not succeed in his action, as he did not suffer any loss in that 

election. 

D. 'P' would not succeed in his action, as the candidate for whom he wanted to give his vote won 

the election. 
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82. To answer a question, the given principle is to be applied to the given facts so as to arrive at 

most reasonable conclusion. 

Principle: Law never enforces an impossible promise. 

Facts: 'A' made a promise to 'B' to discover treasure by magic. 

A. Law will not enforce the promise 

B. Law will enforce the promise 

C. Law will enforce the promise only at the option of 'A'. 

D. Law will enforce the promise only at the option of'B'. 

83. To answer a question, the given principle is to be applied to the given facts so as to arrive at 

most reasonable conclusion. 

Principle: An agreement without free consent can be enforces only at the option of the party 

whose consent was not free. 

Facts: 'A' obtains the consent of 'B' to enter into an agreement by putting a gun 

on the head of B's girlfriend. 

A. 'B' can enforce the agreement. 

B. 'B' cannot enforce the agreement. 

C. Neither 'A' nor 'B' can enforce the agreement. 

D. ·'A' can enforce the agreement 

84. To answer a question, the given principle is to be applied to the given facts so as to arrive at 

most reasonable conclusion. 

Principle: Law does not penalise for wrongs which are of trivial nature. 

Facts: In the course of a discussion , 'A' threw a file of papers at the table which touched the 

hands of 'B'. 

A. 'A' is liable for his act, as the file touched 'B's hand. 

B. 'A' is liable for his act, as it assaulted 'B'. 

C. 'A' is liable for insulting 'B'. 

D. 'A' is not liable for his act, as it was of trivial nature. 
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85. With reference to the Speaker of Lok Sabha, consider the following statement: 

1· Once a member is elected as speaker, he/she loses the voting right in Lok 

Sabha. 

2. With the dissolution of Lok Sabha, the term of speaker comes to an end. 

3. The Speaker certifies a Bill as a Money Bill, and the Speaker's decision is final. 

Which of the statements given above is/are correct? 

A. 1 and 2 only  

B. 3 only 

C. 1 and 3 only  

D. I, 2 and 3 

86. Third Schedule of the Indian Constitution is related to: 

A. Provisions relating to the Administration of Scheduled Areas. 

B. Forms of Oaths and Affirmations. 

C. Allocation of Seats in Rajya Sabha. 

D. Provisions relating to the Emoluments, Allowances and Privileges. 

87. Which of the following contains the regulations for management of the company? 

A. Memorandum of Association 

B. Certificate of Commencement of Business 

C. Articles of Association 

D. Incorporation Certificate 

88. The tenn 'IndARC' is the name of? 

A. an indigenously developed radar system inducted into Indian Defence 

B. India's satellite to provide services to the countries of Indian Ocean Rim 

C. a scientific establishment set up by India in Antarctic region 

D. India's underwater observatory to scientifically study the Arctic region 
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89. The Speaker of the Lok Sabha can ask a member of the house to stop speaking 

and let another member speak. This phenomenon is known as:  

A. Crossing the Floor 

B. Yielding the Floor 

C. Point of Order  

D. Calling Attention Motion 

90. Which one among the following is not an essential in the formation of contract?,- 

A. Offer 

B. Acceptance 

C. Consideration  

D. Damages 

91. Which of the following Constitutional Provisions grants protection to persons 

who are arrested or detained? 

A. Article 19 

B. Article 20 

C. Article 21 

D. Article 22  

92. Which of the following inscriptions mention the trade contacts between Mesopotamia and 

Harappan civilization?  

A. Cuneiform 

B. Hieroglyphics 

C. Devanagari  

D. Kharosthi 

  

http://www.byjusexamprep.com/


www.byjusexamprep.com 

25 
 

93. Who is known as the framer of the Indian Penal Code, 1860?  

A. Lord Hastings 

B. Lord Denning 

C. Lord Macaulay  

D. Lord Wilberforce 

94. The term Green Steel refers to? 

A. Steel which is made up of biomass 

B. Steel which is green in green colour due to Sulfur component 

C. Steel made through steelmaking process that lowers greenhouse gas em1ss10ns 

D. Steel which is made through process involving blue green algae 

95. In law, a man is presumed to be dead if he is not heard of as alive for: 

A. 5 years 

B. 7 years 

C. 9 years  

D. 10 years 

96. The element which is a constituent of chlorophyll and gives green colour to the leaf of plant 

is:  

A. Sodium 

B. Copper 

C. Potassium 

D. Magnesium 

97. How many duties are provided under Part-NA of the Constitution?  

A. 10 

B. 11 

C. 12  

D. 08 
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98. 'Basel III Accord' or simply 'Basel III seeks to: 

A. develop national strategies for the conservation and sustainable use of biological diversity 

B. improve banking sector's ability to deal with financial and economic stress and improve risk 

management 

C. reduce the greenhouse gas emissions but places a heavier burden on developed countries 

D. transfer technology from developed Countries to poor countries to enable them to replace the 

use of chlorofluorocarbons in refrigeration with harmless chemicals  

99. The Global Climate Change Alliance (GCCA) was established by: 

A. European Union. 

B. United Nations 

C. World Bank  

D. Green Peace 

100. In which one of the following groups are all the four countries members of G20? 

A. Argentina, Mexico, South Africa and Turkey 

B. Australia, Canada, Malaysia and New Zealand 

C. Brazil, Iran, Saudi Arabia and Vietnam 

D. Indonesia, Japan, Singapore and South Korea 

101. Pradhan Mantri MUDRA Yojana is aimed at: 

A. bringing the small entrepreneurs into formal financial system  

B. providing loans to poor farmers for cultivating particular crops  

C. providing pensions to old and destitute persons  

D. finding the voluntary organizations involved in the promotion of skill development and 

employment generation 
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102. A wife on legal separation from her husband may be entitled to ______ 

A. Debt  

B. Alimony  

C. Compensation 

D. Damages 

103. In which of the following years, a Delimitation Commission was not set up? 

A. 1973 

B. 1993 

C. 2002 

D. 1963 

104. Beijing Declaration and Platform for Action is: 

A. a strategy to tackle the regional terrorism, an outcome of a meeting of the Shanghai 

Cooperation Organization.  

B. a plan of action for sustainable economic growth in the Asia-Pacific Region, an outcome of 

deliberations of the Asia-Pacific Economic Forum  

C. an agenda for women’s empowerment, an outcome of a World Conference convened by the 

United Nations 

D. a strategy to combat wildlife trafficking, a declaration of the East Asia Summit  

105. Electoral disputes arising out of Presidential and Vice-Presidential Elections are settled by: 

A. Election Commission of India  

B. Joint Committee of Parliament  

C. Supreme Court of Indian  

D. Central Election Tribunal  
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106. The plan of Sir Stafford Cripps envisaged that after the Second World War: 

A. India should be granted complete independence  

B. India should be partitioned into two before granting independence  

C. India should be made a republic with the condition that she will join the Commonwealth  

D. India should be given Dominion status  

107. Judges of the Supreme Court can be removed from their office by: 

A. Impeachment  

B. President  

C. Council of Ministers 

D. House of the People  

108. The Montague-Chelmsford Proposals were related to: 

A. Social Reforms  

B. Educational Reforms  

C. Reforms in Police Administration  

D. Constitutional Reforms  

109. What is ‘Greenhouse Gas Protocol’? 

A. It is an international accounting tool for government and business leaders to understand 

quantify and manage greenhouse gas emissions 

B. It is an initiative of the United Nations to offer financial incentives to developing countries to 

reduce greenhouse gas emissions and to adopt eco-friendly technologies  

C. It is an inter-government agreement ratified by all the member countries of the United 

Nations to reduce greenhouse gas emissions to specified levels by the year 2022 

D. It is one of the multilateral REDD+ initiatives hosted by the World Bank 
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110. What is ‘Greased Lightning-10 (GL-10)’? 

A. Electric plane tested by NASA 

B. Solar-powered two-seater aircraft designed by Japan  

C. Space observatory launched by China  

D. Reusable rocket designed by ISRO 

111. Sanjay failed in the examination because none of his answers were ________ to the 

questions asked. 

A. allusive  

B. revealing  

C. pertinent  

D. referential  

112. There are ________ views on the issue of giving bonus to the employees. 

A. independent  

B. divergent  

C. modest  

D. adverse  

113. Man who has committed such an ________ crime must get the most severe punishment. 

A. injurious  

B. uncharitable  

C. unworthy  

D. abominable  

114. He has ________ people visiting him at his house because he fears it will cause discomfort 

to neighbours 

A. curtailed  

B. requested  

C. stopped  

D. warned  
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115. Although he never learns to read, his exceptional memory and enquiring mind eventually 

made him a very ________ man. 

A. dedicated 

B. erudite  

C. pragmatic  

D. benevolent  

116. More insurers are limiting the sale of property insurance in coastal areas and other regions 

_______ natural disasters. 

A. safe from  

B. according to  

C. despite  

D. prone to  

117. This is a good _____ for a picnic. 

A. plot  

B. spot 

C. scene  

D. landscape  

118. The Christmas tree was _______ with stars and other decorative items. 

A. adorned  

B. endowed  

C. encased  

D. enticed  

119. A wise person from his ______ 

A. errors  

B. mistakes  

C. falsities  

D. lies   
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120. Many companies ask their employees to sign a _____ of secrecy. 

A. agreement  

B. bond  

C. bondage  

D. espionage  

One Word Substitution  

Find the alternative for the given sentences : 

121. A Person who is indifferent to pains and pleasure of life: 

A. Stoic  

B. Sadist  

C. Psychiatrist  

D. Aristocrat  

122. A disease which spreads by contact: 

A. Incurable  

B. Infectious 

C. Contagious  

D. Fatal  

123. One who believes in the power of fate: 

A. Fatalist  

B. Optimist  

C. Pessimist  

D. Parsimonious  

124. That which cannot be corrected: 

A. Unintelligible  

B. Indelible  

C. Illegible  

D. Incorrigible  
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125. One who has little faith in human sincerity and goodness  

A. Egoist  

B. Fatalist  

C. Stoic  

D. Cynic  

126. Provocation 

A. Vocation 

B. Pacification 

C. Peace 

D. Destruction 

127. Industrious 

A. Indifferent 

B. Indolent 

C. Casual 

D. Passive 

128. Concede 

A. Object 

B. Refuse 

C. Grant 

D. Accede 

129. Stringent 

A. General 

B. Vehement 

C. Lenient 

D. Magnanimous 
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130. Loquacious 

A. Reticent 

B. Talkative 

C. Garrulous 

D. Verbose 

131. Defer: 

A. Indifferent 

B. Defy 

C. Differ 

D. Postpone 

132. Cease: 

A. Begin 

B. Stop 

C. Create 

D. Dull 

133. Germinate: 

A. Decay 

B. Breed 

C. Produce 

D. Sprout 

134. Altercation: 

A. Choice 

B. Charge 

C. Heated Dispute 

D. Distribution 
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135. Prohibit: 

A. Prescribe 

B. Forfeit 

C. Forbid 

D. Provide 

136 Find the correct spelt word 

A. Agrandize 

B. Aggrandize 

C. Aggranndice 

D. Aggradise 

137. Find the correct spelt word 

A. Aberant 

B. Abbarant 

C. Aberrant 

D. Abberant 

138. Find the correct spelt word 

A. Integrity 

B. Intigerity 

C. Integerety 

D. Integrety 

139. Find the correct spelt word 

A. Abstemius 

B. Abstemaus 

C. Abstemious 

D. Abstemous 
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140. Find the correct spelt word 

A. Capricious 

B. Cappricious 

C. Caprisious 

D. Carisuous 

141. How many years have 29 days in February from 2001 to 2100? 

A. 26 

B. 25 

C. 23 

D. 24 

142. In 2012, January 1st is Sunday, then which day is the Indian Independence Day of the same 

year. 

A. Saturday 

B. Wednesday 

C. Thursday 

D. Friday 

143. Look at this series: 7, 10, 8, 11,9, 12, __. What number should come next? 

A. 7 

B. 10 

C. 12 

D. 13 

144. Find the missing number in the series: 363, 275, 484, 891, ______. 

A. 393 

B. 582 

C. 211 

D. 286 
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145. Find the missing number in the series: 95, 115.5, 138, …………., 189 

A. 154.5 

B. 162.5 

C. 164.5 

D. 166.5 

146. Find the missing number in the series: 3, 10, 101, ________. 

A. 10101 

B. 10201 

C. 10202 

D. 11012 

147. Rs. 324 is divided among three friend 'A', 'B', and 'C' in the ration 5 : 6 : 7. What is 'B's' 

share of money? 

A. 68 

B. 108 

C. 60 

D) 120 

148. Find out the wrong number in the series: 3, 8, 15, 24, 34, 48, 63. 

A. 24 

B. 34 

C. 15 

D. 63 

149. What is the angle between the two hands of a clock when the time shown by the clock is 

6.30PM? 

A. 00 

B. 50 

C. 30 

D. 150 
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150. A train 100 metres long running at 54 km/hr takes 20 seconds to pass a bridge. The length 

of the bridge is: 

A. 50 mt. 

B. 150 mt. 

C. 200 mt. 

D. 620 mt. 
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